Test Booklet Code & Serial No.
YYTIAhT hiS o HHS D
Paper-I1
JOURNALISM & MASS COMMUNICATION

Signature and Name of Invigilator Seat No.
1. (Signature) .......ccceevveeeevveeennieeeeee, (In figures as in Admit Card)
(NEME) cooooiviiiiiiii e Seat NO. ..voeviveeieeeeieeeeee et
2. (SIgnature) .........ccceeeveeerveeeeeieeereennen, (In words)
(NAME) vt OMR Sheet No.
JUN -19219 (To be filled by the Candidate)
Time Allowed : 2 Hours] [Maximum Marks : 200
Number of Pages in this Booklet : 32 Number of Questions in this Booklet : 100
Instructions for the Candidates ﬁamhlé}m
1. Wrgtle ytour Sfeta}f_No. and OMR Sheet No. in the space provided 1. gfteneff= eTrqen STEH FHE A W I FI9=ara forema.
on the top of this page. T AT Frre S F i A e
2. This paper consists of 100 objective type questions. Each question
will carry two marks. All questions of Paper II will be compulsory. 2. T JEITAha 100 a‘gwﬁ T SR, T TS g T
3. At the commencement of examination, the question booklet aTl%ﬁ a Wﬁ%ﬁﬁ‘qﬁw TArefa) sifard 311%
will be given to the student. In the first 5 minutes, you are 3 qﬁ%wmmmmﬁﬁm Eb_cl'l?ﬁgﬂ 5
requested to open the booklet and compulsorily examine it as ’ fi £ f
follows : o Rl SHS At } T
@) To have access to the Question Booklet, tear off the RE2IRN
paper seal on the edge of this cover page. Do not accept @) YT ehT SHSTATHEES! TITUhaR draoiel el SIS,
a booklet without sticker-seal or open booklet. et T foran Hiet Seseiett yyTatenT feets .
(@) Tally the number of pages and number of questions in .
the booklet with the information printed on the cover @) 35 TS TR shedm TR S\ 1{@
page. Faulty booklets due to missing pages/questions SRR S LI ECI THI AT HE &g q%'lEﬁ
or questions repeated or not in serial order or any g\%aﬂﬂ a’gﬁa”f/wm ST/ qE ?ﬁ;n Fq
other discrepancy should not be accepted and correct ST e ammmm
booklet should be obtained from the invigilator within wfé 3\[?"[
the period of 5 minutes. Afterwards, neither the Question 5 cId &TeR Tl A <% qE &t et HETA
Booklet will be replaced nor any extra time will be =T, MW WW THe3uIR ATE T8 Jooat
given. The same may please be noted. ST oo AT ATt o ﬁmw{-—ﬁ e =,
(Tii) After this verification is over, the OMR Sheet Number :
; Gi)  TOAIET T TEAeT Ufeedmaid TTTATehaT
should be entered on this Test Booklet. S
4. Each question has four alternative responses marked (A), (B), 1. TH. R, A= TR feerell.
(C)and (D). You have to darken the circle as indicated below on 4. T JYIIS! (A), (B), (C) 3TfYT (D) 373t IR fashea SW feeft
the correct response against each item. 3MRd. Tdel AT AT ThTAT Wil ST feaTya Tl Sa3hqor

Example : where (C) is the correct response.

h1ea/ea ST
@ ' @ @, : T(C) T 7T S T8 W
5. Your responses to the items are to be indicated in the OMR @ ‘ @
Sheet given inside the Booklet only. If you mark at any place .
other than in the circle in the OMR Sheet, it will not be evaluated. 5. RIESER I EC IR ERIE AT 3“1@3‘“- mﬁm
6. Read instructions given inside carefully. TR fapTon fefgeiet ST el SR .
7. Rough Work is to be done at the end of this booklet. 6. aﬁﬁﬁwwmﬁmw

8. If you write your Name, Seat Number, Phone Number or put 7. YITUTh =1 AT SSaedl =l UHERE =g &l F39.
any mark on any part of the OMR Sheet, except for the space 8 S ST 3. 'Eq R T Horean fswmon sl TR B

felllott.ed for the rele.vant entries, which may disclose your A, WW B FoR RRAT 3ieE T WWW
identity, or use abusive language or employ any other unfair 5 . N :
means, you will render yourself liable to disqualification. e STEogT ST STl ST+ ( TR

9. You have to return original OMR Sheet to the invigilator at the WW forneaten e st e -ag?’[ .
end of the examination compulsorily and must not carry it with 9. e HUeAR faeneaty Hes il . 3TR. JTRUTAHT TAAeHRS
you outside the Examination Hall. You are, however, allowed G L0 STATTF 3‘{@' amﬁ:{,m‘-rqﬁaﬂ‘er 3?[@311’{ ENCIEERC
to carry the Test Booklet and duplicate copy of OMR Sheet on fedia ga steasRisk Ay faeneafan e 1R,

1o, Lonclusion of examination. 10.  eh e fohel et sifel AT TR .

. se only Blue/Black Ball point pen. = S B 5 5
11. Use of any calculator or log table, etc., is prohibited. 1L il .

12. There is no negative marking for incorrect answers. 12. &S AT STRIES U1 T el S AT




JUN - 19219/I11—-D



JUN -19219/I11—D

Journalism & Mass Communication

Paper 1II

TARTRAT 3TUT SHEAR
gyutent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U TR Wl U dredl

AT : A YIAehd THY WM (100) sgUER g9 fooiel ofed. Uoueh yeAen @M (2)

Which one of the following is not
one of the four main types of

spokesperson ?

(A) Critics

(B) Celebrity endorsers
(C) PROs

(D) Brand Ambassadors

What can be the most appropriate
PR action in times of crisis for an
organisation ?

(A) Do not allow media to report

on the incident

(B) Wait silently until the crisis

tides over

(C) Provide accurate information to

the media about the incident

(D) Shield the stakeholders from

the incident

feciean Fatarient Haa Yo 3Tg ¥ehd
T ?
(A) Htersh

OO

(B) 9l
(C) S 3ferehrt

(D) TSR (dE Fafaer)

TEET TR ey i e
T Y SHHYeh  hdl IOl

A ?

I Q&R

(A) HISIHIAT T299 ddichd Il

qooa vl

(B) U=YET HUOHd MO qEul

(C) weAfaoR=R HemM A9 9 ST
ATfedt Q01

(D) w¥9q feqgey U= TET
EECRRCEL

[P.T.O.



Which one of these is not a
parliamentary privilege ?

(A) Freedom from arrest for all
parliamentarians

(B) Expel any stranger from the
House

(C) Publication of expunged
portions of the proceedings

(D) Order and arrest any accused
person

The ‘reputation’ of a company is :

(A) Social evaluation in the long-
run

(B) Generic perception of the
organisation

(C) Short-term evaluation of an
organisation and its impact on
publics

(D) Image of the organisation

Which of the following is not used
as a public relations tool ?

(A) Press Conference
(B) Press Visit
(C) Press Club

(D) Press Releases

Warana Wired Village Project was
an ICI project for agricultural
development in which Indian State ?

(A) Goa

(B) Madhya Pradesh
(C) Maharashtra
(D) Tamil Nadu

JUN - 19219/I11—-D

qEIcTdeh] HIval SOeE fagrenfaeR

T ?

(A) T 99% HEHMI STeehIRyd fHem
R INE

(B) sufkfad oaediell G SRy
IR IR

(C) HEe= A HIHHSIA i
T AR WehTIHTET SATERR

(D) Yl TKTH TheSUId AR
0T AIRR

TEEl Ul (T WS S 2

(A) TTEFI fehoR AN JaHTI

(B) weafawritn waEmemy gftesnd

(C) HE STeq-Fraaiiel e &
TE= HHSEA Rk

(D) T HEOE giiH

JEIcTUhl RV SGUShiS HEH A

ElErG IS G |

(A) TR IR

(B) dmfe %2

(C) TAhR oeld

(D) ufage=e

IITdel GEROHE! aron aee fogerst’
B Hifedt TUTU-a3A Wehed  ShivTe

T qafaen e ?
(A) e

(B) HEAYQT

(C) HERIg

(D) dHSTS




10.

Who of the following is a non-state
actor in development processes ?

(A) Public Universities

(B) Corporate House/Civil Society
(C) Government Departments

(D) Government Ministry

Corporate Social Responsibility is
governed by :

(A) Companies Act, 2013

(B) Trade and Merchandise Act,
1958

(C) Income Tax Act, 1961
(D) Profession Tax Act, 1975

In his book ‘Network Society’
Manual Castells claims that society
is passing from which age to which
age ?

(A)
(B)
()

The traditional to the modern
The literate to the visual

The
information

industrial to the

(D) The textual to the audio-visual

What is a large size headline
across the entire page called ?

(A) Banner
(B) Deck
(C) Lead
(D) Header

10.
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faemtg gfeadid I-3IMHRTT TTh

HIOTET ?

IN:IESIECRERINIE

(B) SIURE THE/ATI TS

(C) yE& faym

(D) IMEA HATTH

‘HITIRE IRt Rt (Serm

TS STET g ) | fEaHe sroren

FEIEY ol S ?

(A) ST HEET, 2013 (HUAS 3T,
2013)

(B) 3 3fo1 9= *rral, 1958 (3

= (o

s TS I, 1958)

(C) UTteht hTFEl, 1961 (3<hH o9
AT, 1961)

(D) 9™ H HES, 1975 (WHIHA
I a2, 1975)

HYTd Hhycaq=al ‘Jeas dHEe’

JEIRIE HHS 3l Taiqd Haedl qaid

T ST Y Ted Iy ?
(A) 9RUR& T T

(B) WeR d g9

(C) Sieaifies o wifedt

(D) T=URA o GRATA

R STEUae Hefeal S I §Yvf TSI
TECiel 3T9dl el i WU ?
(A) IR

(B) €&

(C) e

(D) ®X

[P.T.O.



11.

12.

13.

Match the Scholars with the theories
they propounded :

List I
(@) Mohandas Gandhi
(b) Srinivas Melkote
(c) Everett Rogers
(d) Paulo Freire

List II
(z) Diffusion of Innovation
(z1) Directed Social change
(zit) Pedagogy of oppressed
(v) Basic needs
Which of the following is true ?
(A) (a)-G1), (b)-G), (c)-Gv), (d)-ii)
(B) (a)-(Gi1), (b)-(v), (c)-@), (d)-(D)
(©) (a)-(Gv), (b)), (c)-@), (d)-(iii)
D) (@)-@), (b)), (c)-(ii), (d)-(iv)
Which of the following is not a type
of validity ?
(A) Content validity
(B) Design validity
(C) Criterion-related validity
(D) Construct validity
Which of the following steps
generally is done before the other
three in the Research Process ?
(1) Preparing the Research Design
(z1) Determining Sample Design
(zit) Developing the Hypothesis
(iv) Extensive Literature Survey
A) @
(B) Gv)
(C) ()
(D) G2)

11.

12.

13.
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o

O A 9 FHT FiadT
fgaa = Sed o
arar 1
(@) TR e
(b) St Ha®e
(c) Tee Us
(d) wsTedl Hld
I
(@) INEEr YR
() fafyrse fom gmfse 9ftedq
(i17) IS fereToTemeR
(v) HAYd TS
TATAIR! SO 3eh 38 ?
(A) (a)-@G1), (b)-1), (c)-Gv), (d)-(i1)
B) (a)-(ir), (b)>-(iv), (c)-@), (d)-(i1)
(C) (a)-(v), (b)-(1), (c)-(1), (d)-(1i1)
D) (a)-Q), (b)-(1), (c)-(i1), (d)-(iv)

YUk IVl JEdn YHR A 7
(A) HI== e (afaasrn)
(B) feomega el (=)
(®)

LN
a encicdl

FTIUAT s  =Hfagte

QREESEARELHIN!
FeFe et (faffaderma)

(D)
TeNeA Yihad qEcriehl Shivmm ol
AT ST A ?

() TEET AREEl TR I

(f) THAT ANEE] S0l

(iii) e faefaa ol

(iv) wifgcm=n foegd e

(A) @)

(B) @v)

(C) (i)

D) @)




14. A magazine printed a survey in its

15.

16.

17.

monthly issue and asked readers to
fill it out and send it in. Over 1000
readers did so. What is this type of
sample called ?

(A) A cluster sample

(B) A self-selected sample
(C) A stratified sample
(D) Simple random sample

World Radio Day is celebrated on
which day ?

(A) 19th November
(B) 30th April

(C) 13th February
(D) 8th December

What is the generic format of ‘Mann
Ki Baat’ programme on radio hosted
by P.M. Narendra Modi ?

(A) Talk

(B) Interview

(C) Drama

(D) Radio Feature
What is diegetic sound ?

(A) Sound created through the use
of an advanced digital system

(B) Music and narrative that
the audience hear and the
characters do not

Sound that is heard by the
characters in the fictional world
of the film

Sound created during the post-
production phase

(©)

(D)

14.

15.

16.

17.
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Teh! fideRTicteh oT=a W= SThTd
Teh YA SIIet d STeehiT ol TeTee!
T&A Ureauare fodl shefl. AR Th
g AR YA 98T UISae!.
STRMYSR=A A ®E o ?

(A) grfess TG

(B) wa-faifad T

(C) R HAT

(D) T &R T

SrTfaes et feew shaean feawdt s/
el STal ?

(A) 19 e

(B) 30 fiw

(C) 13 heEmd

(D) 8 fed=r

JaEE g "Gl A=A 7 & aE’ A
AU HEAHATAT ARSI HIvE]
Bl ?

(A) oo (2H)

(B) Hamed (3eTe])

(C) 7w (g

(D) hercAsh frea (e =)
‘SESER Sl W|UN S ?

(A)

fallale

STYfTeh TR IS0

=Rl

FfRE Tep, ITehd TG 15 U&7
TR Thd 3T WG ST e

faagerdia  enmurgt  sarda
Tk AU o]

F IO 20 IR ShivaTd

ST &a T

AT

(B)

(®)

(D)

[P.T.O.



18.

19.

20.

21.

What is the last stage of insertion
of an ad in TV programming
called ?

(A) Verification
(B) Insertion

(C) Distribution
(D) Scheduling

The film ‘Gully Boy’ is based on the
life of which rap artist ?

(A) Swadesi
(B) Anime
(C) Divine
(D) Raja Kumari

Who is credited with beginning the
Rasa tradition ?

(A) Abhinavagupta

(B) Anandavardhan

(C) Bharat

(D) Kalidasa

Which of the following Satyajit Ray

films was based on a story written
by Rabindranath Tagore ?

(A) Charulata
(B) Sadgati
(C) Ganashatru
(D) Aganthuk

18.

19.

20.

21.
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fafogsa AT ST STfedd
TR LT Wighadiel Jaesal UTel
HE WU ?

(A) TraeH (RRHEHIH)

(B) WHERT (3ERM)

(C) faau (fefegsgem)

(D) Jeeh Tl (Fesgfe)

‘et @Tg’ @ fEsYE wEear W
FHATRNTAT SR ST 3T ?

(A) TocH!

(B) e

(C) <

(D) TS HART

‘W' WA e w0 S HIvE
fea s ?

(A) AT

(B) 3THdEH

(C) v

(D) =hreAeT™

fedean qafartent oS I I hIvw
Tasrae Hagamy erik ar=n w9er senfia
B ?

(A) =Tee
(B) &l
(C) TR
(D) 3TT®




22.

23.

24.

25.

The news value ‘prominence’ is
said to be present in which kind of
story ?

(A) A story that will affect a large
number of people

(B) The story involves very well
known people

(C) If the story has one prominent
character

(D) If the story is on the front page
of the newspaper

Indian television underwent
another historical milestone in its
history in 2019. Which area of
television process did it impact ?

(A) Production
(B) Distribution
(C) Consolidation
(D) Amalgamation

Which committee in 1976
recommended that Akashwani and
Doordarshan be separated ?

(A) Joshi Committee

(B) Verghese Committee
(C) Chanda Committee
(D) Sengupta Committee

Which constitutional amendment
amended the Preamble to the
Constitution of India ?

(A) 41st Amendment
(B) 42nd Amendment
(C) 43rd Amendment
(D) 44th Amendment

22.

23.

24.

25.
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JHEd & SdHT Jod hocdl YRl

qraHa fqad ?

(A) &1 SqHEET IO 3T Sl
BIUR Tl

(B) &l uiagy =uedil a1 drdHid

T
(C) I Th FHE U A

(D) aHl SAHMYSTEA Uiged YMHTel

BUAT 9

2019 el YR SegH Teh He<arl
Tuql TSl el YR h3ed dreRt
JihderX qeall ?

(A) UreR™
(B) faawu

(C) wHiferey™
(D) STHETHIH

CICaNCINIIC I G R C I ECISE|
S T 1976 Hiell K3 A gied
%ol ?

(A) wieft affet
(B) =it et
(C) <=1
(D) ST |

TRATT TSg HST=AT 3Rf¥ehd  H3eA
FAGERITGR TE&IT hivad 3Tell ?

(A) 413t ge&it
(B) 42t g&&it
(C) 4341 go&it
(D) 44°t gEt

[P.T.O.



26.

27.

28.

Internet Protocol Television allows

one to do what ?

(A) Watch TV on computers and

mobile phones

Watch HD TV

Attach TV through wifi
Make a skype call through TV

(B)
(®)
(D)

What is an advertisement that is
intended to create goodwill for an

organisation called as ?
(A) Corporation advertising
(B) Product advertising
(C) Institutional advertising
(D) Concept advertising

‘Validity’ in quantitative research

refers to :
(A) Whether one can draw
meaningful and  useful

inferences from scores on a

particular instruments

(B) A characteristic or attribute of

an individual

(C) Use of interrelated set of

constructs

(D) Where researcher validates
the study by conducting pilot
study

26.

27.

28.
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g URmnia Sfafegsges Saedren

HI HIA AT ?

(A) feAfEsH TR it Aemsd BiFeR

qrgal Idl
(B) =€l .. uEda Iar
(C) IIwEen .S Sedar Il

(D) AH.I THIZY Hid HL@ IAdl

Teafoasrlt wgumer At swevamen i
fffeieen SERE 1F deiygs Sa 2

(A) FETHTEEE! (HiURS) Sfeda

(B) 3AEAT=! (Wiese) Sifedd

(C) TeorHsh (SReegema) et

(D) FeheUdlcAesh (hiH@) gl

HEACHS YA ‘e’ oS i ?

(A) Taf¥re Frem= s fHereien
T 7eq0l oqfv7 Iugea fensl
THesvaT=t e

(B) TEEY oHe™ SHfafasy fean
A&

(C) HeH HhoUA el aT

(D) ATATT FAFE FHEA HaAd
Teeagae faafo

10
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29. In research, how does quasi- | 29, wefiwHm@, yEIfTe wsd=a gaq
ffffrg;;;«ti;t;ﬁdf}n contrast to the furEIfeR Tgdie S esuu Shivd ?
(A) In terms of the degree of control (A) oA FIITRN FA dleadrT

excercised by the researcher GINYhTell Taesum==n fEsvms g9

over possibly confounding NN )

variables (B) JANTTEIER BIOM=AT GIHATOM= S
(B) In terms of the number of OISR TR SIom= it

control groups assigned by the Tere gE faEE gy

researcher to understand their U e

effect on experimental group e
(©) In terms of number of (C) JARTHEN Herii<t weneehd ffy=ra

participants identified by the Helell T

researcher for the experiment (D) S 9T ST S FE
(D) In terms of degree of freedom ST FIUATFITT SN STl

exercised by the researcher to .

operationally define each of the BRI INE

322‘;%?:“ and independent | 30 yqrie e qXfamEmE ek

, o ERERIRCERE I e MG SR E R ]

30. Which of the following is the most - . s TderEt e 9o
appropriate data collection method A T =TS Jeletdshl ol q
to carry a research on dynamics of Heheld Ugd Galfeh ard o ?
interactions of control over television S
remote in a family set up in India ? (A) &R
(A) Content Analysis (B) Ha&

(B) Survey (C) friegm
(C) Observation D) I
(D) Netnography a e en .o
31 Daniel L s The Passi ¢ 31. SHIA TR A ‘T WA AR LS
. Daniel Learner’s e Passing o . . ,
Traditional Society — Modernising A — HSHEfET |.|€’ SIESAR
the Middle East’ is an influential THTST TTE IV S FATEd 3Te ?
seminal work in the field of : .. .
. .. (A) FEI@IA HT9H
(A) Organisational Communication )
(B) Developmental Communication (B) TSI
(C) International Communication (C) SNMAWET WA
(D) Intercultural Communication (D) d{id{Hi@riﬁqﬂ T
11 [P.T.O.



32.

33.

34.

35.

When does a DTH operator does not
violate the ruling on ‘Airwaves being
public property’ ?

(A) Broadcasts its ‘own’ channels
with 24/7 ads, self-promotional
messages and teleshopping

spots unlicensed
(B)
©)

Offers value added services

Pop-up ads on screen occupying
2/3rd space

(D)

What does Section 499 of the Indian
Penal Code deal with ?

(A) Civil Defamation
(B) Criminal Defamation
(C) Press Laws

(D) Right to Criticize

Which of the following words have
not been mentioned in the original
Constitution of India ?

(A) Contempt of Court

Offers individual pay channels

(B) Parliamentary Privileges
(C) Official Secrets Act
(D) Social Equality

In advertising what are trade mark,
brand name, logo, slogan, URL,
jingle, packaging, spokesperson and
signage, etc. called ?

(A) Brand elements
(B) Brand value

(C) Brand equity

(D) Brand personality

32.

33.

34.

35.
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‘IR ARRT AT 3T A i

e ELALTE. SRS o

e B ATEr 2

(A) S EL.ATE. A faamagarn
TA A Ak e aien 9 fafay
et G&Id a3

(B) SR SR Feaafdd e (Hey 3fee
Gfedd) YgH a8

(C) SR g&ifuq STe™r= Yscaran o
AT AT qTY-3TT ST
A 3T

(D) AR et W U el TeH Hid
A

aqIEEa <€ Gfgddiadl FAH 499

FIM Heeh MR ?

(A) TR AR

(B) TR AR

(C) I8 HrR

(D) FHiem wuEAmE AER

TR Sfaemr=a ge sTRered™

qEd®R] HIVAT HheqIdl FHET]

e ?

(A) =A== 3ATH

(B) ¥9e foRrenfaer

(C) IMFHE MIHEA HEST

(D) 9IS FH

SeUdiHeial AR e, g1, @,

HeEeR, (. R.TA. !, Wi Sfed,

TSV, Fardkal ST Femgihctt, 3. AT

ST WU ?

(A) TS e

(B) ™Y HeA

(C) Tz fomed (S sfREe)

(D) ST SAfRTH

12



36.

37.

What is the most popularly used
advertising trick of making the
audience think that the product is
better than its really is called ?

(A) Puffery

(B) Weasel claim
(C) Cognitive
(D) Unethical

Which of the following is not a
citation and referencing style
followed in academic writing ?

(A) APA
(B) MLA
(C) API

(D) IEEE

Directions (Q. Nos. 38 to 40) :

Castells wants to reserve the terms
“Social Movements” and “Networked
Movements” to the social movements
he sympathizes with. But the far-
right movements that have become
so strong in many parts of the world
also use network logic and are
social in many respects : they are
social groups reaching out to various
social groups in society, they use
networking as social systems online
and offline, they often more than
some other parties argue for social
welfare policies for national citizens
(and an exclusion of immigrants and

36.

317.
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3R FIUE WiAg Sfei=n = 3Tg
i SAGR 4l 81 Tele Scae & g
IR TRIERE TN 37T, 3T fo=ar
HE ARl ?

(A) RTHEI™E

(B) ®Hal Q@

(C) A

(D) aTifah

geied 3 Yeftre feammen geuta
WeATeiesh! HIvRT SAFRe o Heufget
St o AT ?

(A) WU

(B) UH.TA.U.

(C) T3

(D) sEE3E.

&yt (0. &, 38 T 40) :

e ‘guitee F@as!’ T
‘THASITN Seiedl Tt A1 Tl
holes T TeedA ISl ATIedl ST
HEHAT FIHYdl 3R, HIF S,
e 1 3 ISTAT Feodasl 3ed
1 WA g™ qa 0T Frarfsreha
ITRATT — & FHS T2 3T S THTSI e
TR FAENS RN Sred ¥, A
fOT ATReATzd § 219l STes fHtor shia,
TSI AR HHNS Thearvmdea

13
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refugees from the welfare state) and
so on. Neither the term social nor
the term network is automatically
politically progressive. What
distinguishes movements such as the
anti-austerity protests in Greece,
Spain and UK and other countries
and parties such as Syriza, Podemos
and the Labour Party under
corbyn, from Donald Trump’s white
supremacist supporters, Golden
Dawn, UKIP, the freedom party of
Austria, the Danish people’s party
Jobbik in Hungary, the Sweden
Democrats, the Finns Party, the Tea
Party and so on is that they struggle
with various means for an inclusive,
democratic form of socialism,
whereas the right-wing parties aim
at a discriminatory, xenophobic,
nationalist, Closed Society. In the
end the difference boils down to that
between democratic socialism for the
twenty-first century in order to
shape power in such a way that a
fair, just and participatory society
can be established. We may today
very well again have come to a
crossroads comparable to the one
that Rosa Luxemburg, citing
Friedrich Engles, identified 100
years ago : “Bourgeois Society
stands at the crossroads, either
transition to social or regression into
barbarism (Luxemburg 1916, 388)

JUN - 19219/I11—-D

R0 ZaUaeT o Y STRAEl e
gRard  (efor gyt A et
Fratfad et T SHaEE=T del

Sadrd) scamel. qu’ fopen ‘Sies faromar’
1 N G SMNSTI GRAMH Bd Tl
SHeS T A TR IesdE! THYE
Ares <h, 9., SR Fe
Tret, efer droeq Uit e Sifoes,
WeTmia euiwe, fhg uel, 3 e,
TR ST W, T smfor .. Aefa
Fwehm-faQet ercem et fagie,
TIQHE (07 Hifeel Ter el Ae
e 311 i g fafay Ami FeaHmEeTe,
AR ST SIS @IS olel Sawd.
O I AR Adl I9a fasrHar,
TR, e, Sfew gHSTEe!

dedld. Taveel B ik 3A] i

TNHINET FHTSAARTIT  ThfadT=a

QTAehTHIS! STRIT E 1 TR S0 T =T
T Teardt ST FEHET FHST= ST
3% THRA. SATIU YRl THST TN
SISEAEN STl 3R A= ot st
AT ISV THeHT= e T4
Eigel adaciedr AR 2% IR,
TR HEEHETE AT Teh! SIS
3 AR, TH T RIS GRS
HHAY 38 W G BN TFIIUTRS
i eTR. (A& 1916, 388)
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38. What according to Manuel Castells | 38. 3T qJQQ\LuHR qraisTeh  Tesgeal
makes social movements politically THRITSS R e B 2
progressive ? ) ’
(A) By creating network move- (A) HHISH fmqfwm :“06 R

ments along with social FHIOTAT () Hoddedl TAL 0

TNOVEmEnts (B) &ifq S</& qai T Weunh &
(B) By i'ncluding the right wing ©) TREh 5 for Fratfadi

parties N -

. . FHEATUTRRT TSI TEHFT ol

(C) Inclusion of immigrants and ‘

refugees into the welfare state (D) |HIfSIeh FIRAMT SR S0
(D) Adding social systems online SR Sigd =0

and offline 39. UHfGUEAT IMAHIT HITAT FSHIHS

39. Which factors in 21st century leads T a&TaTdt, =g MY WeUTTT HS dar
to a fair, just and participatory AdA 2
society ? )

(A) A nationalist society (A) RS FHI
(B) Democratic social movement (B) el AIhemEl AHIS <fesded
online (C) HTHIR T&J ST o HedTIhr
(C) Welfare society with labour TS
parties offline - R
. - 1)) ISIE NI ESEISEL
(D) Democratic socialism D) ¢ ) ’q ) .

40. Which assumption has been 40. flq”ﬂm{ 'f'q\'{i'dlilhqlsmwl aF
advanced by Castells while sharing fAfeerdtarer (2F-feetfafzm) o smoed
the techno-determinism of various gHdl <giferdmT q;{‘EQ’H\:I Exgl i
thinkers ? T e STRA 2
(A) Concept of social media lacks an (A) HESTERTE ST @IW%TW

engagement with social theories . N
that conceptualize socialism Slled A=Akl TS il Iy
. . HI
(B) White supremacist supporters A A T ¥ e
will bring in techno-euphoria (B) TR oresdmas! qredeh aeHeTE STeeq
(C) No welfare state progresses (Eqﬂxl—‘i\“l';lr{"“) T
with exclusion of off-line (C) T T T e
movements " N 2
- FHARRT T YAl hid T8l
(D) Transition may not lead to ) . .
socialism (D) HHHUTGH FHSERG g FH &l
15 [P.T.O.



41.

42.

43.

Which movement is defined as the
rejection of western conventions and
the depiction of reality that is widely

distorted for emotional effect ?
(A) German Expressionism
(B) French New Wave

(C) Cinema Verite

(D) Cinema Nono

What was the permitted Foreign
Direct (FDI)
newspapers and news periodicals

in 2018 ?

Investment in

(A) 100%
(B) 76%
(C) 49%
(D) 26%

Which is the light that is an
ellipsoidal non-defining unfocussed

spot light ?
(A) Reflector
(B) Fresnel
(C) Soft light

(D) Scoop

41.

42.

43.

JUN -19219/11—D
qIIATAT IASAAT QUIATHATS]  ATEqAT™
foedientor & wf=mea TWad shivren
TBae e fqet ?

(A) SFH TR
(B) %9 = 9%

(C) faamm afe

(D) faa=m A

ERRERCEC S RERREICEAL 2 DL |
TTqaUeh= AT FART 2018 T fohalt
Bt ?

(A) 100%

(B) 76%
(C) 49%

(D) 26%

qEeTieh! HITCAT ATESHT FHTITS

AFMATHAl, HIerdar TEgse Ao
SaRufeg wwaren e ?

(A) THTaRR
(B) %E- A
(C) TR e

(D) *=d
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¢ o

44. Which of the following is not a | 44. q&cUsh! I ‘AA®' ®HI< (IH)
Serif font ? e ?
(A) Times New Roman (A) T = U=
(B) Courier (B) @ﬁ?ﬂ
(C) Cambria (C) i
(D) Calibri (D) hfctsit
45. On the keyboard of every computer | 45. T&& TR hHeohahEald T
each character has an ‘ASCIT’ value fergiell Tk 3T%h! (ASCII) Hed 319,
which stands for : e UEY & ?
(A) Adaptable Standard Code for (A) ITSTRAA HSE Hig B IHHIM
Information Incharge EREIS]
(B) American Standard Code for (B) M W2 i BR TTHUIA
Information Interchange 32'{%1?[
(C) American Stock Code for (C) \“fiﬁllh{chﬂ =ik HIe B TTHHIA
Information Interchange ELCE
(D) Adaptable Standard Code for (D) AL ESS g R TTHUIN
Information Input ERRC
46. Which is a messenger that is used | 46. YEIciueh! RV HISR TG HfeTTeh R
for chatting online ? IR ST ?
(A) KIKA (A) forert
(B) IMO (B) I™1.TH.3T.
(C) Agile Bits (C) 3ITES ey
(D) Altavista (D) Ao
47. Which one of the following | 47. Tisronen ¥@E WG favrTEaTEE!
measurement does not divide a set feeTean TR sheel A qgHd SR
of observations into equal parts ? Sa T ?
(A) Quartiles (A) =g
(B) Standard deviations (B) T=e cifeswm
(C) Percentiles (C) wH=rEaA
(D) Deciles (D) <A
17 [P.T.O.



48.

49.

50.

Which of the following statements
is correct with respect to Research
Methodology ?

(A) It is about those methods which
are concerned with the collection
of data.

(B) It consists of those statistical
techniques which are used for
establishing relationship

between data.

It considers the logic behind the
methods we use and explains
why we use a particular method
in the context of research.

(®)

(D) It consists of those methods

which are used to evaluate the
accuracy of the results obtained.

Which popular media group known
for having started private television
channel in 1992 has stake in
television distribution as well as
production ?

(A) Zee TV

(B) Tata Group
(C) Times Group
(D) Essel Group

The process of corporate advocacy to
influence decision-making by the
legislators, regulatory bodies and
government officials is called as :

(A) Public Relations
(B) Public Affairs
(C) Lobbying

(D) Publicity

48.

49.

50.

JUN - 19219/I11—-D

TENYA USHdl WUell  (HerETatsi )=

TeHWld Wetadeh! v faem seR

A ?

(A) 28 Fenorei Hafd Tgeri=n o
THETT B

(B) deameie ey SNvardiaT arae
ST IR WA o
THEY Bl

(C) TEirer=an Sl STt Ugea aroRvar
i TN dlfeheh TIEHI0T ITd

foamE ¥dd -

(D) frswwf=t stgswar ASvaTaTe!
STOUATeA] UGHEl T FHAST
Bl

AT 1992 AL @ISl gIf=rsreo
oIfgl & FHIOM HIU HEIH T3
wrden ffddt o faaeor = S8 &siq
HREG Mg ?

A) = A

(B) <&@ gu

(C) 2™ U

(D) THES Y

TER] 3T T ARyfafae, s
LT F FIHT STRT=-IATaT JUT
STRUIES ST Ufshan Taad faan
U 2

(A) STETh

(B) HIESieh Ha8R

(C) wiffer
(D) wfagHt
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51.

52.

53.

54.

Which is the sampling technique
that allows every unit in the
population an equal chance of being
selected ?

(A) Convenience Sampling

(B) Snowball Sampling

(C) Stratified Random Sampling
(D) Expert Sampling

What type of Sampling technique is
it when researcher ‘selects samples
as and when s/he gets them’ in the
process of data collection ?

(A) Random

(B) Incidental
(C) Purposive
(D) Snowball

Which of the following is not
required in the reference list or
bibliography entry ?

(A) Place of publication
(B) Authors names

(C) Publisher

(D) Call number

When a reporter goes to an
interviewee with evidence of his/her
wrong doing and then asks direct
questions about that specific
incident, instead of asking general
questions, what is it called ?

(A) In-camera interview
(B) Confrontation interview
(C) Undercover interview

(D) Smoking gun interview

51.

52.

53.

54.
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ARG Yodieh FHHe Hare g
TAE Gt R HOM FAIEE d5dl
JEicTuehl IR ?

(A)
(B)
©)
(D)

Sieg] FRIEeh T2 HehoTeTe! el fHesd
a1 30T Hesel el THAT TMedl kil
THATEE UgYdlell s Ui ?

(A) Fgf=sh

(B) WrHfiTeh

(C) e

(D) F-sid

TG fRan Teag=ia Trefieis! Had
HEXTEH TG ?

(A) TPRME s

(B) wi@=™

(C) 9orTHh

(D) Y™ el swHth

Sieg] STt TEITe SHKitell =l el
fohal Tohcd AT QAT T3 HAHTERT
ge A fIaRdr 9T e qeaia ued

foared @mel gared ¥% o,
qeTreld GehRIell hd TRUdid ?

Ry THATEE dgd]

ferTietTehdl/hR THATES TGl

WRa agfess THAES dgdt

dog THATEE Tgd]

(A) sT Hefda Jareq
(B) wemicHe Helrerd
(C) gt Hored

(D) 9% ATACATHHIN HeATed
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55.

56.

57.

58.

What are people who have lived
their entire lives in an internet
connected world called ?

(A) Generation Z
(B) Digital Natives
(C) Net Citizens

(D) Creative Digitals

The term to describe the way in
which unfair key personnel have
control over the information that is
presented to the audiences :

(A) Gatekeeping
(B) Agenda Setting
(C) Indexing

(D) Editorial

Which of the following is the most
widely read newspaper of South
India ?

(A) Malayalam Manorama
(B) Daily Thanthi

(C) Eenadu

(D) Sakshi

What is the technique by which
utilising a production switcher, a
specific colour can be replaced with
another image source ?

(A) Cyclorama
(B) Set unit
(C) Chroma-key
(D) Flat

55.

56.

57.

58.
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S TR e YU SRS SeeH fasam
S I B | e D B3 o

A) ‘=’ i (SeE E)

faS

(B) fefsea wafie (fefSea |
(C) = i (A2 fafesr=)
(D) Geiete fefseed

SRIN hTE HewaT=al SHekit Y&IehT faea
SO HfeciioR STaet 0 So STEm
ITAT SR Fgordiq 7

(A) Treahifem
(B) swSter gfem
(C) sEferm
(D) tfedfEa

S0 RATHED Tafeeh arere S gaas
HIO ?

(A) HTATRTH HARHAT
(B) fe it

(C) =g

(D) wmaft

HlewRH == aedn fafEa saen
WA fafdte 1 e g7 qfaq

QU= Ci?llcdl 1 WU 2
(A) HTHRATHT

(B) # I

(C) wAT-ht

(D) Wi

o

T&osl )

o o

EISES))

(forufess
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59.

60.

61.

62.

Which of the following does not own
a daily newspaper in India ?

(A) Trust

(B) Private Limited

(C) Government

(D) Cooperatives

Which of the following Hindi
News Channels had the highest
viewership according to BARC in
February 2019 ?

(A) Aaj Tak

(B) News 18 India

(C) Zee News

(D) India TV

Which of the following states was not
included in the famous SITE project
in India ?

(A) Karnatak

(B) Orissa

(C) Maharashtra

(D) Rajasthan

Who is the author of the landmark
1971 paper ‘Development Communi-
cation in the Agricultural Context’ ?
(A) Leela Rao

(B) Uma Joshi

(C) Nora Quebral

(D) Crispin Maslog

59.

60.

61.

62.
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IRATA eleTdeh! ShIvMehS QfTeh JdsTa
HIeTeh! AR ?

(A) fasae g

(B) @it wffea

(C) wm&A

(D) HehRl Ted

ThgaRl 2019 ALY LML SRR
holedl AhSaRIIaR Falfaes d&h
Ut &t gaanfet wIvrdt Bt ?
(A) AT do

(B) =& TN sfem

(©) =t =

(D) sfean fe

TRAdia Ufeg ‘W’ A ThodrHeEd
TCHeTden! ShIoTC] JTATE HHGRT HUAT
M gl ?

(A) HAfch

(B) i

(C) wHalg

(D) TsEI™

‘sfvesren geula fawm d@9m’ @
1971 ATl YfagY Seredn oy Haum
TEE HIU B ?

(A) e T

(B) 3|1 SAeit

(C) R =T

(D) Torfem Hgam
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63.

64.

65.

Statement (A) :

Caste discriminations are now-a-
days observed only on celluloid.
Statement (R) :

The directors of films have stopped
addressing caste distinction.

In the context of above statements,
which one of the following is
correct ?

(A) Both (A) and (R) are true, (R)
is the correct explanation
of (A)

Both (A) and (R) are true, (R)
is not the correct explanation
of (A)

(C) Neither (A) nor (R) is accurate
(D) (A) is false and (R) is true
What is Crowd-funded Journalism ?
(A) Journalists propose projects
online to people who then
contribute to those they deem
worthy

Non-professionals running a
daily

Readers contribute to page-
making of a daily

Readers propose projects online
to Journalists

The ASCI code has been appended
to which of the following :

(A) Cable Television Networks
Rules, 1994

Right to Information Act, 2005
Information Technology Act,
2008

Telecom Regulatory Authority
of India Act, 1997

(B)

(B)

(©)

(D)

(B)
(®)

(D)

63.

64.

65.
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faga™ A)

AThTA W [OAUSTHENT  STi9g

qreEaE  fHeadl.

faem™ R) :

fesrae ferestert Sdl-Seren fasm@ren

T HE 9ed fTa et

T faUMRA 9 ¥ WA ©eleieh!

TR I fomer

(A) faum (A) sufor faem (R) & <t
faam sk s/, faum (A) =
faum (R) ® 99 &R0 3T

(B) faum (A) sufor faem (R) & <t
faum SR 19e ad faugm™ (A) °
fag™ (R) & 4rfd &RU &

(C) faum (A) enfor fagm (R) st
faam el smRd

(D) faum (A) T I faum e ™
faum (R) © /=% 38

‘P8 Hreg TARIMNA WIS & ?

(A) TIAHR TEE] ardieh Fehed el
SRR & Rl AT SIS Tl
T 0 9HTard

(B) fit-=arawifas s TER
REGENNEICISIERI

(C) FaaeIfas=l 1 TR oI
ElCEE N BESGIG)

(D) 9T TFARNAT 3TarEd fas™

Hafadd
it (ST TYeed wrfwd
Ak sfean) ™ Thd ciiciiehl HITa
qfiferfed o @ ?
(A) Haa fafesH Jeas 9|, 1994
(B) wifedrean AfeRm=n &Rt 2005
(C) wfedt T R, 2008
(D) ferepta TeerRedt 19ifEl oitw sfean
3, 1997
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66. Which is the indicator to ascertain | 66. faf¥re SHEEA  SheEME TaF’
‘Quality of life’ of population ? I GeheU T HIYT HIOATEE JercTichl
(A) DQIL hIOTAT AR oY Bl ?

% 58}:11 (A) EF.3.TE
D) PQLI (B) TH.59. U3
. . (C) <19 Td. 3T

67. From case studies of communities (D) .77
adopting or rejecting technological 74 A ﬁ' o
innovations, Everett Rogers found 67. bl . A d
that diffusion took place in five T “:“ s e SIS STETT e
stages. Which of the following stages 'Iagt,a EEEEIE] 34@3@7{"' ﬁﬁ Eill
ocecurs ﬁrst ‘? Qﬁ%iﬂ?ﬂ TR 91 W%ﬁ @T‘h FZITaaﬁ
(A) Persuation stage IO T YH Al ?

(B) Knowledge stage (A) 99 {0l W]
(C) Implementation stage (B) IEUTRi=T Ol
(D) Formal education stage (C) STHISSIEUIET 2]
68. Why is it important for reporters to (D) A= freoman <o
J(Czl)kgo Sourcesgl lich 68. AR HIQITH Servl SAAYAR I
ources elp publis a T ?
(B) gi%(;zt:sr iys tr(igvspapers (&) Fﬁﬁﬁlﬁﬁf Wﬁ ﬁwa ST A
(C) Sources are the people that (B) $ o o ST
help edit and revise copy (©) = ARl 3 refer 2
(D) Sources give a story balance by hdTd )
offering different perspectives (D) #0d f”“‘:“a ﬁﬁaﬁqameua e

69. If the following activities are SSTHICESISIR SRSl Il L
undertaken while arranging a press | 69. TR GREE SIS EASEINICI I
conference, which of the following is hTH AT AN I A=l AT hH
the correct sequence ? Mg ?

(1) share a write up about the (G) HEHH T G Fifaot e Jifgdt
event and organisation, 20,
(i) ansv:_ering media persons’ (i) TARRIE YEAE SW A,
. questions, | i) AT FE,
(I:ll) briefing by an authority, (iv) STETE SHT=R TR o,
(v) welcome address by PRO, ©) m‘éﬂm NN
(v) send a press release, v) . ’
(vi) send an invitation (i) ll‘lfl ! 1S ! o
(A) (i), (), Gv), (D), (i), ) (A) (‘fl)’ ({), (I:l.)), (}Lz), (ll), ()
B) ), (i), (i), Gv), i), ©) B) @), (i), 1), (v), (@), (v)
(©) (), (), (@), (Gv), @), (v) (C) (D), (), (1), Gv), (i), (v)
D) o), @), Gv), (v), (i), (i) (D) i), (@), Gv), (v), (i), (i)
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70.

71.

72.

73.

Which of the following is not a major
distinguishing characteristic of
India soap operas ?

(A) Preference to outdoor shoots
(B) Women centric stories

(C) Loud and melodramatic
narrative treatment

Storyline that has excessive
marital and familial conflicts
What does ‘Bluetooth’ technology
allow ?

(A) Landline phone to mobile phone
communication

Signal transmission on mobile
phones only

Wireless communication
between equipments

Satellite television communi-
cation

When News stories where
paragraphs are written in order of
descending importance, and then
using a transitional paragraph,
introduces the rest of the story
chronologically, what is the style
called ?

(A) Inverted pyramid style

(B) Chronological style

(C) Hour glass style

(D) News feature style

How long is copyright protection
valid for a literary work following
the death of the author ?

(A) 50 years

(B) 40 years

(C) Forever

(D) 60 years

(D)

(B)

(®)

(D)

70.

71.

72.

73.

JUN - 19219/11—D
JEIGTUsh! 1T R ffeh HRTaT 6

qifeehie Ueh HetdT™ Faocesh oI&ful

T2

(A) EErsEmEy fesfietomen fao Sm
EICIE

(B) ©ffehdl wuUMH

(C) 9 30 HEHIche Hh

(D) HAFHI STV Hiferh o Jafeh
el SAfaie FHTeS

‘SeY’ TATHIAT AT JEcush! hTd

I IS 2

(A) ST oAU yHvIEa e dTad

(B) W YHUESAHES BUIR WA

(C) IusHRUTmEd VR arferfed dmaw

(D) IR fesamh Hre

SIAHTET IS Falld HgwaTeal eI

ST S el fi=eaTd SISu Heal

OievareT arqen fafguaren TR &
Rordid 7

(A) 3@ o et

(B) Ty St

(C) dega wedes Yeft

(D) gxierE St

R JIAM ATAT ceTeeddl
@ gk fohdt o8 @] T ?
(A) 50 @

(B) 40 =8

(C) “eHiehfia

(D) 60 =

24



JUN -19219/I11—D

74. What is it called if an organisation | 74, weamEn ¥&&9F TS fgaq den 9=
allows people for a day to see the HTH TEUATEIS Tl Saell X el T3
work being carried out by them ? = 7
(A) Educational Visit A) defrs dz
(B) Open House
(C) Visitors Day (B) ST FSH
(D) Public Relations Day (C) srvarm e

75. Which of the following is not a (D) ST T
method for preparing Advertisement | 75. Srfexrdi=n refdded T@R HITATH
Budgets ? WAl el Tged A 2
(A) Fixed percentage of sales (A) o fifea esar
(B) Compara.ble to the competliflon B) Tl o SN
(C) The maximum amount possible < a < a
(D) The minimum amount (C) Se@l Yo Tl Sl NS

76. One of these is a reason for faulty (D) HHiq FHT eTfeieh =
listening : 76. EAUH! HIVA FIIT HFUT  HIT
(A) Listening with images of A ?

stereotypes (A) FeEcY gfad Si@aiadR S
(B) Focussed attention tea
(®)) Q.uestl.ons t(? a m%nlmum (B) w&r Efed w0
(D) Listening with mind - -

77. Which of the following is not true (C) =it i we (o 2
of Advertising and Marketing ? (D) wAH T
(A) Marketing is a long-term | 77. @cicien shac el AT forqumrete

process while advertising is Iy AE ?
short-term (A) fagum STl @ sfetd Sen
(B) Advertising is part of marketing FIEEST ST
©) z)(;:zzrslzagtliznabout promotion (B) S & faor T ST
) o (C) Sifetd yamrEret eg |t foque
while marketing is also about . .
place, price and product % W’ fopma snfor Seme =t
(D) Advertising costs more than REIECEE
marketing (D) Sfetdia faqumTien S @ 2l
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78.

79.

80.

What is the most common use of

‘social media’ analytics ?

(A) For increasing profits

(B) To increase customer base

(C) In order to support marketing
and customer service activities

(D) To win an election

The following are the characteristics

of Information Society :

() Organisation of society based
on science, rationality and
reflexivity.

(z1) Labour market needing less

education and more physical
effort.

(7iz) Media and information products
dominated by culture.

Which is accurate representation of

the Information Society ?

(A) Only @)

(B) (@) and (@i7)

(C) (@) and (i)

(D) @) and (i)

In journalism, what do you

understand by ‘unkets’ ?

(A) Free sponsored trips

(B) Fake news

(C) Kill a story

(D) Negative feedback

78.

79.

80.
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wiera Hfedr geramIvn=Er Ui

FAEAII0 HIMHST Bl ?

(A) TR FRFUEEE!

(B) Ue® T AT TS

(C) fauur o7for Irgshdan aefauarrd]
(D) TaeTe fSewvamEmd
mfedifafsed game=t w1 afyrey
Tt fewet emRa it wivTdl
ey wfedifufted TaeN (FRRETH
E31E31 2 CA D MR 1 2 e B e

@) fe

fagm, faaware onfur faaamEx

YR FHSEAT

(fi) SR = freromdean R
AR STHUR ST o

(ii7) TEHAE WEAH o Hifgd! et
SURT e

(A) ® fagm (i)

(B) we (i) 3T (i)

(C) ®we (i) 3T (iii)

(D) ® (37) 3T (447)

THRIRGHE, ‘Sieheq| A TIHYT

gy g ?

(A) TT&Hd Hhd SR

(B) sHmEE STaHt

(C) =raHl 7 Bl

(D) THRRHAF FfqdE
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81. What device does cardioid represent | 81, ‘=hifeailzs’ fRfeal WemmALA el

in video production ? SUFTUTT STEal 2

(A) Microphone A) N

(B) Camera .

(C) Stand (B) &1

(D) Lights C) E=s

82. Which of the following describes (D) «rzeH

external communications ? 82. WEiciie! FHadl Ted HHIIA HYfRTH

(A) External communications keep Fuiq e 2
employees informed about the . “ . oa c e

(A) R SAT9HeS hUA=AT shHAATHd
company. . .

(B) External communications HUETe Hfed=n e g& e
always flow from the bottom to (B) &89 WU FEAAT TITAAT
the top. TREET ) B

(C) External co.mmumcat.lons are (C) T SO JeHt S HeIEiER St
always carried out using mass

. ST
media. . .

(D) External communications deal (D) STeal FRTIAER AR, TEHR,
with investors, clients, Rrgreriell Heie Herel .
customers 83. <M <umell AfYehd UH TS hIUTA ?

83. Which is the official state run press (A) STETEr ﬁ,—@—,[

Zie;;y?of the People’s Republic of (B) forgen == 5

(A) Asahi Shimbun (©) ﬁmaﬂ

(B) Xinhua News Agency (D) WS Hed =S TSl

(C) Renmin Ribao 84, TETHT Hu-real omfefes deameiasd

(D) Chinese Central News Agency (ufsctor) YAt wIMTET HHEAT

84. The financial publics of a company A 2

include : ?

(A) Investment analysts (&) % S

(B) Employees of a bank (B) &% FHHAR]

(C) Senior citizens (C) “I3 MR

(D) Political journalist (D) TSI TSR
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85.

86.

87.

88.

What is the full form of DSLR ?
(A) Digital Single Lens Reflex
(B) Direct Smart Locus Reflector
(C) Direct Sun Light Reflector
(D) Digital Sequence Light Reflector
When an autorickshaw’s interior
is decorated with pictures cut out
from popular magazines it can be
called a case of what mass media
process ?

(A) Cultivation

(B) Representation

(C) Bricologe

(D) Reproduction

A general expression for the
tendency of global media industry
exporters to dominate media
consumption in developing countries
and impose their culture and other
values is termed as :

(A) Culture monopoly

(B) Cultural imperialism

(C) Cultivational culture

(D) Mediated culture

Marathi daily ‘Dnyanprakash’
published which of the following
news and information ?

(1) Panchang or Almanac

(2) Market rates

(3) International news

4)
(A)
(B)
(®)
(D)

Government notifications
(1) and (4) are correct
(2) and (3) are correct
All are correct

(3) and (4) are correct

85.

86.

87.

88.
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‘ETHTASR T U 9 wE ?

A) fefsea fame o o

(B) 3RER TR diend gt

(C) SRR 91 oge Rueiay

(D) fefvea faaag wEe e
Rer=an AT 917 Se@l Alwigd
AR BRI YA o o faeead
HSTeAl STl deg1 TN TSI {auaTed] shaait
SHAIEIH Yfshdl WO ?

(A) HfceyH
(B) U=
(C) SIS
(D) TareR™
SAST HieawaHerean fafdme,
forerameiier ST TeTm arqReR fmton
EISNIRCaECat I CERE NI
ToZeR A1 HIEHEHEHT AReiel Sl

ST & AT THRAAIY S FalrEe
A ?

(A) TEHfdF THITHHRR

(B) Tiehids WHSIAR

(C) HEhdehLm

(D) TRV

BB D B GG S AR E P REAI G B
Teeien! ot STaHl ST Arfed
gfagy el SRET ?

(1) 9=

(2) WS 99

(3) STAWEA STae

(4) THRT e

(A) (1) =for (4) SR TR

(B) (2) =fur (3) s 3R

(C) wd =R Ted

(D) (3) =AU (4) ST TR
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89. Which section of the Indian Penal | 89. IrsefaRiell wRam™Ede R T
Egi igj‘; (A) 1243
B) 1249
(©) 130 (B)
(D) 498 (C) 130
90. What is an advertorial ? (D) 498
(A) An advertisement in the form | 90. 3TERTEINIA BN &HE ?
of editorial content. (A) HURHT HSIRIA &I hetal
(B) An editorial written to condemn S
advertisements (B) STifgXwir=n o svamesiar fafserd
(C) S;?tojci;re;r:gizement on the T
1 1 . o Ew.u.nﬂ. G‘Tr%TH
(D) An editorial about the editor © H'q|<;oh|q AR -
himself (D) HUEehia 4t shiillk HUigeh(d
91. The term ‘Phatic Communication’ | 91. ‘Wi FHMHIA’ & Hll HE Fel¥d
refers to : w27
(A) Verbal or non-verbal communi- (A) W YA d{Q“ro;ch {-i;”qq SYTAT
cation that has a sqcial funct'ion e 'M'WT TS & a1
rather than an informative o
functi
REHOn . (B) dgfifes oot a WvR
(B) Communication during natural .
disasters El’i !
(C) Verbal/Oral culture recorded in (C) I AT §§E El
Ethnographic studies fsger  3mfor Hifees ﬂ'@v_cﬁ
(D) Communication with no media (D) HIeFHIfE Shelel H=T9H
involved 92. SuAIfital @ Was=al fagaiaran
92. Which of the following is not a AR FIH ST G
‘e-media gratification’ under uses ~
A TIfase 8% TRUIR AR ?
and gratification theory ?
(A) Security (A) g
(B) Cultural satisfaction (B) WIEH{deh FHIEM
(C) Surveillance (C) geouit
(D) Filling time (D) 98 IO ATl
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93.

94.

95.

96.

Which of the following is often cited
as the main reason for the general
ineffectiveness of Press Council of
India in curbing wrong practices in
journalism ?

(A) No representation for news-
papers owners

Complex and time consuming
process of hearing of cases
Lack of power to take penal
action against defaulters

Old and irrelevant standards of
code of conduct.

Credibility consists of which three
core elements ?

(B)

(©)

(D)

(A) Expertise, motivation and
trustworthiness

(B) Expertise, power and
trustworthiness

(C) Motivation, trustworthiness,
personality

(D) Expertise, power, motivation

Which of the following is not a part
of an Advertising Agency ?

(A) Production Department

(B) Crisis Department

(C) Copy Department

(D) Public Relations Department

In 1961 Robert J. Lavidge and Gary
A. Steiner created which model that
suggests six steps to consumer
buying behavior ?

(A) AIDA model

(B) Innovation and adoption model
(C) Hierarchy of effects model

(D) Information-processing model

93.

94.

95.

96.
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IARTRAArd Fehi=al TR ST
AT HWedid 39 wifaa=a
AR oG ael YEeTiehl  Shiow

S0 Hew™ T S92

(A) FUAIA AR qREeaR Giafree
RiL

(B) Weh<oT=AT GAEON= Tiohan fh=rhe
El O

(C) IHNaEG TSR HRATE HITAT
AR 70

(D) STEREfEIdE AM® S 9 TR
3

‘fefafael’ aean I Jayd seshier

(A) Squ, Jom, fasargama

(B) Squa, g, fasameams

(C) 9om, fasamaurEar, i<

(D) TqUE, T, Wom

TTCIcTush! H3el Sed U=l S
3T @ ?

(A) dreR™ faum

(B) srafag fawm

(C) wrdl faum

(D) SHEYR faam

1961 HY Tad S, wleair amfor 18 w
g I UeRT™ WS g 9al
T gafdaied! Aiged 19 ki ?
(A) AIEl "igd

(B) sIfwa amfor stacd Aigw

(C) IRV WeIIshH Afed

(D) wfect-wfshan wrea
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97. Which of the following is not | 97. gygai=t =iviar 2fafegs far=a
?Or’;iliv;smn signal distribution SO EUEY AR 2
(A) DTH A) ST
(B) Terrestrial (B) Rfgaa
(C) IP (C) 3.
(D) Satellite (D) T
98. .If you h.avgz to record in ;nte;'viiiw 98. TY 9N ATEd ST TR -
E)lllc?wi‘zlgn rri’icf:;;(;nzz 1silou(l)d onz IS FHIOATH I Eﬁﬁﬁaﬁ HToTaT
use ? AR STIUEel &el 2
(A) Omnidirectional microphone (A) AR HAFHIHH
(B) Microphone with wind filter (B) fie fiFeel STHUN AREIEH
(C) Microphone with mounting (C) Sealel TR
stand
(D) Camera mounted microphone (D) FHHAETA HHH M
99. What is the characteristic that | 99- Tﬂaﬁ_"'ﬁ ‘_"23@ T dftreg A& ?
does not describe colour ? A) & (z)
(A) Hue . .
(B) Saturation (B) Hogart (W)
(C) Brightness (C) SeeTq (%)
(D) Harmony (D) B (ET)
100. ‘Relationship beyond banking’ is the | 100. ‘Rererehia fpits sifer’, © @refier shioren
tagline of which of the following AR Sehdl SoER A 7
Indian banks ? A) S stE T
(A) Bank of Baroda
(B) HDFC (B) TS TH
(C) Axis (C) i
(D) Bank of India (D) i 3w ghea
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ROUGH WORK
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